N & 0l & AF S & M M

20198 & =0l & LBHSIH AL ALY CE
2N A=A
M AmEMNQ A
©9: WAL HUSHE R (25 & @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AR AAC 5,067,224 5,302,227 235,003
s 300,000
J| 101,470
< 3,169
s 4,662,585
AXIAMN A 5,010,879 5,247,947 A 237,068
s 300,000
J| 101,470
< 3,169
s 4,606,240
=272 sl | 2,129,736 1,800,736 329,000
=M £ MI03 HE (LX) 28,736 28,236 500
201 2et24d] 11,436 11,436 0
01 At 22l 11,436 11,436 0
O L=t 1,500
- 2EZ=0E 2228 7¥
5,000& * 60K 1,500
O = & dl 1,536
— %E MSHE YLEN
8,000% * 29 » 32 » 32)HCH 3 1,536
oY x = 8,400
— A& M= A= XA LIl
350,000 = 208 = 12¢ 8,400
202 04l 17,300 16,800 500
01 = LH 4 Hi 12,500 12,000 500
O A& d=03 XA o4l
40,000 * 2% = 253 2,000
O 23 d32U3 |*x=&  100,000& * 553 5,500
O 23 M=03s =& 20,0008 = 5% = 50 5,000
03 =220l 4,800 4,800 0
O AZ= N7 SIS FAS el Y&
1,600,000& * 3H 4,800
ALOI 2 TH 3 136,000 136,000 0
201 Let2d] 30,000 30,000 0
03 & Ar2 Gl 30,000 30,000 0
O HMee=l 3.12J18 Z&EHENH d=2EZAM0IZ2
tH &l 28,000,000& * 13| 28,000
O 2019 &S0 OtAEHZE THE
2,000,000 = 13l 2,000
307 21201 A 106,000 106,000 0
04 QIZFHALAIH B = 106,000 106,000 0
O HMee=l 3.12J18 Z&EHENH =22 AM0IZ2
Hsl 98,000,000 = 13l 98,000




2N A=A
M AXIMA EHH3F
©9: WRAAL HMSUE KA (29l 8)
2 S 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O 2019 Z& &0 OtAHZ THa
8,000,000& = 13l 8,000
EHE =M =2l 161,000 161,000 0
201 £B-2dH| 55,000 55,000 0
03 A2 Z Hl 55,000 55,000 0
O 2019 =272 HAZUS =T (ZU3F)
7,000,000& = 54 35,000
O 2019 &= 4 =82 HAZUZ
20,000,000& = 14 20,000
307 21201 A 106,000 106,000 0
04 DIZHHALALSE E X 106,000 106,000 0
O HM483 M=AEMSUH 88282
2 2019d MLUZHHAS LAY
22,000,000& = 13l 22,000
O 2019 2& HXAHH B2 & stotE =l
30,000,000& « 13l 30,000
O HM418 detgzuwsz) g4 =50 Bia
T3 32,000,000& = 13/ 32,000
O HM1002 d=2XHsUs ddcs8dgd &
M363s =Sstnulia e 23S
22,000,000& = 13l 22,000
=703 455,000 165,000 290,000
201 Let24d] 70,000 30,000 40,000
03 &AL Z I 70,000 30,000 40,000
O 2019 Hu=E=0l 8= 1 - Hs® =472l
E A=l 30,000,000& = 13l 30,000
O HM168l A= (H&t=7 WX
40,000,000 = 13l 40,000
307 21201 A 385,000 135,000 250,000
04 QIZFHALAIH B = 385,000 135,000 250,000
O 2019 Hu=E=0l &= 1 - Hee =42l
22 100,000,000& * 13l 100,000
O M6z & HXIHH =S8 57U
35,000,000& * 13l 35,000
O HM163 &= UHets7 HUWH
250,000,000& * 13| 250,000
SgitHal 150,000 150,000 0
201 LBt 30,000 30,000 0
03 &Ar2 I 30,000 30,000 0
O HM30= tsgdJll 8= &2 dHl d=2 U3
30,000,000& = 13l 30,000
307 glz2+ol & 120,000 120,000 0
04 QIZFHALAIH B = 120,000 120,000 0




AT AR EH
ATENY B3
H2A2 HEHE S

(o
S - BB () - HEAY - BES Ol &F o4 %@ﬁ 2t
O M3z tHeEdg) =2 &Y =H &=AUS
120,000,000 * 13| 120,000
HS O3 247,000 247,000 0
201 Yete | 7,000 7,000 0
03 #AF2 I 7,000 7,000 0
O M35 2dol=2=u AL =2H HIsUa
5,000,000& = 13 5,000
O 2019 2440 2SS (Z X, A Aot
) 2,000,000& = 13 2,000
307 212t0| & 240,000 240,000 0]
04 SIZ2ISHAAISHE E X 240,000 240,000 0
O M35 2dol==Hl AL =2H HI=sWUa
90,000,000& * 13| 90,000
O 2019 2440 2HUISUHS (2 X, H 2 Aot
) 150,000,000& * 13| 150,000
OFtHal 140,000 140,000 0
201 et d| 15,000 15,000 0
03 A2 | 15,000 15,000 0]
O 2019 8232 orrU3 =&
5,000,000 = 33| 15,000
307 QI2t0| & 125,000 125,000 0
04 CIZ2tSHALALS B X 125,000 125,000 0
O 2019 2 & HXH &=22lE or2Ua
60,000,000 * 13| 60,000
O 2019 2 & HXH =2 xS&W El=U3
25,000,000 = 13l 25,000
O 2019 2 X HXEH M =ALE Q1 OF2CHE
40,000,000& * 13l 40,000
223 113,000 98,000 15,000
307 giztol A 113,000 98,000 15,000
04 CIZ2tSHALALS B = 113,000 98,000 15,000
O Mg ZXFHXH 20MEXHST 82 A2
T SEUE =203 33,000,000& * 13| 33,000
O H213 et=2dE3 &) =2 ANZUE =
2l f 3| 50,000,000 = 13| 50,000
O Hi4s Mttt =2208a &) () 8220
3| 30,000,000& * 13| 30,000
B 2 CH S 50,000 50,000 0
201 Bt 5,000 5,000 0
03 A2 | 5,000 5,000 0
O H21g 232 &)| &= MEH= H20U =
5,000,000& = 1A 5,000
307 2Iz2to| A 45,000 45,000 0




2N A=A
M AmEMNQ A
o9 HRAR HSHE R (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 45,000 45,000 0
O H21a =232F) A= MEH=s U2
45,000,000& = 13l 45,000
=S U3 40,000 40,000 0
307 glz2tol & 40,000 40,000 0
04 DIZHHALALSE E X 40,000 40,000 0
O 2019 2A=ZZHH &= =3
40,000,000& = 13l 40,000
E0H3l 79,000 75,000 4,000
201 Let24d] 4,000 0 4,000
03 A2 S HI 4,000 0 4,000
O 2019 OtAIOL=ULIOT & B2 = - 1 E7U3
22 4,000,000& = 13l 4,000
307 21201 A 75,000 75,000 0
04 QIZFHALAIR B = 75,000 75,000 0
O HM103 Z&XEX s MEHs &2
thal 15,000,000& * 12l 15,000
O 2019 OtAIOI=ULIOI &=5 -1 &2 zS8H
gMH 2019 83 - 1ssw g§2E2TH
60,000,000& * 13l 60,000
HHESIE 3 20,000 20,000 0
307 gl2tol & 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
O H133 Z& SN HELAEHUS
20,000,000& = 13l 20,000
dlzE R 340,000 340,000 0
201 Let249] 20,000 20,000 0
03 A2 E Hl 20,000 20,000 0
O Z28Y dIEdE 2229 (A -2 A%
=#A S) 20,000,000& = 14 20,000
307 21201 A 320,000 320,000 0
04 DIZFHALALSE E X 320,000 320,000 0
O 2019 2 U = otH dXEH 2AU(FF
oy, 28 S AU -2 2 ES)
250,000,000& * 14 250,000
O LUE 287 - otH dXNEH FEH|
50,000,000& * 14l 50,000
O diel 8Kz |X XNE
20,000,000& * 14l 20,000
HOIEE U3 30,000 30,000 0
307 glz2tol & 30,000 30,000 0
04 DI2HHALALSE E X 30,000 30,000 0




2N A=A
M AmEMNQ A
o9 HRAR HSHE R (29l 8)
2 S 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O 2019 ZXETH &= HOIESHSE
30,000,000& * 13l 30,000
s U3 10,000 5,000 5,000
307 gl2tol & 10,000 5,000 5,000
04 DIZHHALALSE E X 10,000 5,000 5,000
O 2019 EXtHH &= MEXNs s
10,000,000& * 12l 10,000
=z 3 0H 3 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 DIZFSHALAIRI B X 10,000 10,000 0
O 2019 ZETHH M= A
10,000,000& * 13 10,000
21203 16,000 16,000 0
307 21201 A 16,000 16,000 0
04 QIZFHALAIH B = 16,000 16,000 0
O 2019 Z2& EXHH Metede s3e @703
16,000,000 * 13l 16,000
ANAHSMEAL AL (AZX) 89,000 64,500 24,500
201 L2l 5,000 5,000 0
03 A2 b 5,000 5,000 0
O Xeds M AT (HELEH)
5,000,000& = 13l 5,000
307 glz2tol & 84,000 59,500 24,500
04 QIZFHALAIH E = 84,000 59,500 24,500
O XNodls M AT (HE0IE)
84,000,000& * 13l 84,000
o ESHS 15,000 15,000 0
307 glz2tol & 15,000 15,000 0
04 QIZHH AL AR 2 & 15,000 15,000 0
O &= JEH HNL2EZ=U2
15,000,000& * 13l 15,000
AEHSE 54 815,504 580,245 235,259
s U2 s4 16,500 16,500 0
308 XX EHHSOIA 16,500 16,500 0
08 W=EJ|20stE X 16,500 16,500 0
O dM=s3u=2 =4 16,500
— JAUSLZSED(ZH, HH)
5,000,000 104 5,000
— S¢xSswW (<) 3,000,000 * 10HA 3,000
~ YWESESAD(BI, S4)
3,000,000 = 1004 3,000

_5_




2N A=A
M AmEMNQ A
&€ deEME s4 (&)
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
— Hddgasw(s4) 3,500,000 * 100 3,500
— MNAE=SSW(HELEH)
2,000,000 = 10024 2,000
dYE |4 799,004 563,745 235,259
301 et a = 799,004 563,745 235,259
Vo=t - 2SRES24=3 799,004 563,745 235,259
O AOI2& = 1A 54,154,260& * 10¥ 541,543
O MOI2&= 40HEEZ  51,600,000& * 14 51,600
O MOIBH= ERZ
3,346,470 » 2% » 5Y 33,465
O MOIZ2H= HEHEH BEXxH
3,328,500 » 8&H * 23 53,256
O d303s &d « =&l
5,425,000& » 12& 65,100
O &dJ&8 MdAH € Zadg g
2,500,000& * 6CH 15,000
O AMOI2 A2Z ¢ 1,750,000 = 43| 7,000
O m=l 450,000& = 10 4,500
O d303 &It U3 840,000& » 109H 8,400
O ALOI2 EHOI0 P (HBE)
1,250,000 = 24! 2,500
O =4 HHHI(RR) 1,150& * 3,043¢ 3,500
O AOI2E=E e |FFJHI
1,400& = 3,100£ ~* 1OH 4,340
O Halsd gaEMYS(E2HIUHE 28
4,500,000& = 14 4,500
O Hal&sd AHAS(E=2MA)
2,000,000& = 13l 2,000
O AOI2d=+ SEHI 1,300,000 = 13l 1,300
O AOIZ2Y S5l 1,000,000& * 13l 1,000
MEH =S 243 1,024,516 1,048,591 A24,075
J| 101,470
< 3,169
[ia 919,877
2E M=0s XA 409,160 387,735 21,425
201 Let24d] 480 480 0
01 At 2teltl 480 480 0
O = & dl 480
~ 243 S0 =7
8,000& = 2% = 30¢ 480
301 et d s 10,000 10,000 0
12JEEd= 10,000 10,000 0
O HMs583 dMetde Msis ¥ ASHEMS
tHal dut=s 10,000,000& * 14 10,000




2N A=A
Hu: ATXMNQY BAS
Helr dMEHs 245 (Sl & &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 398,680 377,255 21,425
02 PIZHEHAHEE 153,680 145,255 8,425
O Z2&Z M=E3 ARWE oAl 48,372
e s 2,512,870& = 12& 30,155
— HE2E= 249,630 » 12& 2,996
- EAAES 200,314& = 12& 2,404
— ZE SO 1,507,720 * 23l 3,016
— FAg A 130,000& » 12& 1,560
- ¥32=+E 2,512,870& = 35% * 23| 1,760
— dZ2EIHd3 50,000& * 12& 600
— GotE 4|
2,512,870 * 0.86%1/30%132 937
— NZA2RY
10,299 » 40AI2+ » 12& 4,944
O Z&Z HME3 AREE oAl 28,308
- =3 1,412,390& * 128 16,949
— dHEE= 138,620& * 12&8 1,664
- EXFEYZ 113,415& » 128 1,361
— ZE S0 1,059,293& * 23] 2,119
— ZAgAY 130,000& * 12& 1,560
— HII2 &Ml 1,412,390% *0.86%1/30%13 527
— WsE x| 120,000& * 128 1,440
— A2
14,930& = 15A12+ « 128 2,688
O M=s3 23 HasX ¥ HAES
1,500,000& * 128 18,000
O ZAUZHS3 MR=E 23U KX 25
=l 2,000,000& * 12& 24,000
O SgZizH=ss AR228 X
20,000,000& * 14 20,000
O AEBUHaSX & Nzl 4 N2
10,000,000& * 14 10,000
O ZuZH=3 /ds 299AF =
50,000& = 5% « 203l 5,000
04 QIZFHALAIH E = 245,000 232,000 13,000
O H58=2 MetdEM=lz &8
140,000,000& * 13l 140,000
O H583 detgEdsUsa 88 R HSHI(
24) 15,000,000& * 13l 15,000
O dINMA L dIMEMSUSHE dC A
& 8,000,000& = 13l 8,000
O s& ZAZAHsA & HAM
1,000,000 * 13l 11,000
O AE MsSA Z N8 S =Z0H|
5,000,000& = 13l 5,000




2N A=A
M AXIMA EHH3F
el MBS B4 (e mg)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O s& 23 dsdz sdXd
500,000& * 263l 13,000
O ZdzZH=s3z A ¥ SSHH /35S
3,000,000& = 23| 6,000
O & 3=z 8 HEHHE 2F
15,000,000& * 13l 15,000
O M7l 28z A& X A SUHbH
-3l 8,000,000& = 13l 8,000
O 2019 EXt= S3¢ HHial
5,000,000& = 13l 5,000
O HM19a ZXHXH &g 2= HLUAME
6,000,000& = 13l 6,000
O HMesl 2&=2 =ZE3 & 552 U3l
7,000,000& = 13l 7,000
O HM233 2&Z=I] Al L AHHFF
tHal 6,000,000& = 13l 6,000
(GEERARSE=g 3= [E-PNIE=DA; 76,824 76,824 0
J| 38,412
s 38,412
307 glz2tol & 76,824 76,824 0
J| 38,412
i 38,412
02 IZtE M AHE L 76,824 76,824 0
O zudyg MEXMIX A BH XA
2,134,000& » 3H » 1228 76,824
J| 38,412
s 38,412
e MsUz XNE 62,500 102,500 A 40,000
301 LA Z 6,000 6,000 0
12 JIEtE4 = 6,000 6,000 0
O HMz27al &g HoHe MsUal a4 Za3
6,000,000& = 13l 6,000
307 21201 A 56,500 96,500 240,000
04 DIZHHALALSE E X 56,500 96,500 A 40,000
O HM273 &g ZHoHel M=sUal &It
22,000,000& = 13 22,000
O M33 8 QMMM &It
10,000,000& * 13l 10,000
O 2019 2 &2 A& XM=tz ot
2,500,000 = 13l 2,500
O M132 &5 AMAHOMR Sl &It
3,000,000 = 13l 3,000
O HM163 & =otel M3l &It
4,000,000 = 13l 4,000
O HM193 &= =o0tol M3l &It
3,000,000& = 13l 3,000




2N
X ZH -
L= B

el

AT X AQC
ATEANY B
MEH S 245

tor

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
O H39a =2 HoeMsUHa s XIH(
=0}) 1,500,000 = 13| 1,500
O 2019 2ME MO OietEtHa =
1,000,000& = 13| 1,000
O &d=2 XMEHC A==z &I
3,000,000& = 13| 3,000
O &2 ZOHeIHOIEEWNS ZIHXA)
3,000,000& = 13 3,000
O &= e =2 =ans 29
3,500,000& = 13| 3,500
MEHY =X X BEX 76,824 76,824 0
Jl 38,412
= 38,412
307 212t0| & 76,824 76,824 0
J| 38,412
= 38,412
02 QIZFEAAIE E X 76,824 76,824 0
O ot MEtH KT X BHXI AL
2,134,000& = 3% » 12& 76,824
J| 38,412
= 38,412
MEHYEIZIZ)H 2 88,000 103,000 A 15,000
307 212t0| & 88,000 103,000 A 15,000
02 DIZHB AAIE E X 33,000 33,000 0
O MEHFANEZA A EA
4,800,000 = 6H 28,800
O MESHSIEX 22=MH (HESIHH])
350,000 * 23] » 6H 4,200
04 SIZ2ISHAAISH E X 55,000 70,000 A 15,000
O MeEsedst XN 35,000,000 = 14! 35,000
O MEHs 2283 A NS(HHIISS)
10,000,000 = 13| 10,000
O =08l A2 9988 o2l (2, RIF S
) 10,000,000& = 1Al 10,000
ZAESMEH=SUHE XS 276,000 266,500 9,500
307 2Iz2to| & 276,000 241,500 34,500
02 QIZFAAAIE E X 20,000 0 20,000
O A ALTXZ2Y 29d| A
20,000,000 * 14! 20,000
04 SIZ2ISHAAISH E & 256,000 241,500 14,500
O 2019 Mt XA MEN S =208 =
o 3,000,000& = 13 3,000
O H203 Z&ZHf =IJIF320U3
5,000,000& = 13 5,000
O M8z 2& HXHH sa2lss0lial
3,500,000& = 13| 3,500




2N A=A
M AXIMA EHH3F
Helr dMEHs 245
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
O HM193] Z&Z==Hi MEMSI HOESUHS
4,000,000& = 13l 4,000
O 2019 E Xt MEH=T =2UH3
3,500,000& = 13l 3,500
O HM233 Z&Z==t MEMSK HLAHE
4,000,000& = 13l 4,000
O 2019 Z2& =223 AFI| MEHMS ANOES
tHal 4,000,000& = 13l 4,000
O H143 dMetdT o244 Meys HEA
12,000,000& * 13l 12,000
O 2019 Z2XAXI 24 s2UH3
4,000,000& = 13l 4,000
O M7l Xg&EI 8% oz I 2 2=
Ol thal 4,000,000& = 13l 4,000
O 2019 EXtiH == 03 10,000,000& * 13l 10,000
O HM132 Z&ZE=2&EI Atz Or2 U3l
10,000,000& * 13l 10,000
O HM313 Metde MEMsUsdE &2
60,000,000& = 13l 60,000
O M1z dE8M Al - 2 & SE=UHS
4,000,000& = 13l 4,000
O Ad2X20l 2HM(360)(22, 22/, @
21) 16,000,000 * 14! 16,000
O e M= &0 2 24 MK B85)
4,000,000& = 44l 16,000
O 2019 HOIEEUa d=Ua &8 X&
3,000,000& =+ 13l 3,000
O M52 Z&d=ZEH2A&EI HNOESZ el
4,000,000& = 13l 4,000
O 2019 A S2401E SEUH3
5,000,000& = 13l 5,000
O3 =2 &H HoIESUHS (2T, oY, &%
) 2,000,000& = 13l 2,000
O 2019 ZHFTH & - 0 BHELE SsH
3 7,000,000 =+ 13l 7,000
O 2019 EXtHl BI=0 =2l 5,000,000& = 13l 5,000
O HMb5sl Z& 2gk 1002l MTB S S/t
6,000,000& = 13l 6,000
O 2019 EXiH dMetge sse =203
15,000,000& * 12l 15,000
O 2019 E Xt =& 03l 6,000,000& = 13l 6,000
O 2019 Z&H XY OtetE S5
5,000,000& =+ 13l 5,000
O 2019 Oct2E=2Z MEXsUSE
5,000,000& =« 13l 5,000
O 2019 282 HEd MEXNSUSH
30,000,000& * 13l 30,000
AZTAMNOIEH ANE2Y 35,208 35,208
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il

2N

AR A C
M AXIMA EHH3F
Sl HMSAL =3 o Iy (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O o 2 4l 3,500
— HMHARE A2BHI(168) 5
200,000& * 10043 2,000
— ZE2SE A2EFHI(65) 23U
150,000& * 10013 1,500
O AM&&EHIs X 22,875
— HoRF BAAFY 22l L X
480,000& = 1038 4,800
—- ZESSY DATHI(6S) 22 ¥ |X
500,000& * 58 2,500
— MHAMORE A I WHM(GHERHE)
800,000& * 204 1,600
— MHUAMCORE A I WM(LE, CHa
=) 300,000& = 504 1,500
~ EESEN JRE UHFY
150,000& * 100H £ 1,500
— HOECORY 2+ ZE=2
5,000,000& = 1CH 5,000
— HU2E =ES 28 1M 2¥
150,000& * 100H £ 1,500
- s =88 B8 M7
100,000& * 200H £ 2,000
— YO FE 228 2L Y
3003 * 8,250m" * 1JH 2,475
206 M= Hl 53,473 51,348 2,125
01 =8l 53,473 51,348 2,125
O dHat7&2e 45,973
~ Z7H8 AYTH BAR B A0 7
12,500& * 400m 5,000
— ETME OATH BAS X[ 7Y
10,000& * 400m 4,000
— HIFS SIUTH BAS B X0 PY
10,000& * 400m 4,000
—~ S7HE JYIH WEA(SL2)
41,000 * 17m" = 3Xt 2,091
- ETME AT E BHEMSHE2NH)
41,000& * 17m" = 3Xt 2,091
— HUIXE ST HEASH2H)
41,000& * 17m" = 3Xt 2,091
— HIZ(148) 700,000& = 438 = 3H 8,400
— S%4(148) 160,000& = 103 » 3H 4,800
~ E7ME YT VUK 7Y
187,500& * 20 3,750
— Z7FE OMTF BOBK 7Y
187,500& * 20 3,750
HdHIAME ofEE HUEXN 7Y
187,500& = 20X 3,750




2N A=A
Hu: ATXMNQY BAS
Sl MSAS 2B L Fy| CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
— ZJ&E &8RRI HeE
150,000& = 58 » 3= 2,250
O F2d =522 2,125
- Hz 15,0003 * 15% * 53| 1,125
- <% 10,000& * 259 * 43| 1,000
O E§EZRE =32l 2,125
- Ha 15,000& = 15X * 53| 1,125
- <% 10,0003 * 259 * 43| 1,000
O zg2sy a=222 3,250
= 15,000& * 30% * 53| 2,250
- <% 10,0003 * 259 * 43| 1,000
401 Al HI 2 28I 455,000 59,000 396,000
s 300,000
s 155,000
01 A& HI 453,110 59,000 394,110
O Z82sm W +2 A5
5,000,000& = 14 5,000
O HMsAE |X E= 15,000,000 * 14| 15,000
O d3= JOIEE2E NS HUE SAt
30,000,000& * 10H 24 30,000
O HUAZ 254 HAE A
25,000,000& * 1JH 4 25,000
O ZHEANE(MSAL) 23 9
80,000,000& * 14l 80,000
O Z&g=2sd =88 &X
300,000,000& * 99.37% 298,110
s 298,110
03 A& =2 THHI 1,890 0 1,890
O Z8esy z3Y &7
300,000,000& * 0.63% 1,890
s 1,890
SS9 MsAL4X 98,950 162,950 A 64,000
201 L2l 19,950 18,950 1,000
02 2=2Z 4l 19,950 18,950 1,000
O 3323 ¥ HA 19,950
~ SHEZHUSAL 2229
14,000,000 * 14 14,000
— SS9 HOE=Z2E HILSB(11H SY)
5,000,000& = 14 5,000
— FEERF MIIQ2  450,0008 * 14 450
— DEAM SEA IS (HMS3E)
500,000& =« 14 500
401 Al& I 28I 79,000 144,000 A 65,000
01 A& HI 78,550 143,370 A64,820




2N A=A
HE: A4 23
H§el: MSAE #5 ¢ Fl (22 &d)
2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 %‘llﬁﬁ Husz
O &&= HOESE Ful(11HA)
1,000,000& = 11004 11,000
O O 28717 &X
5,000,000 * 10084 = 99.1/100 49,550
O b0t 23717 |SXNE= 3,000,000& = 14 3,000
O 22 SFAME U2, SE4 S)
15,000,000& * 14 15,000
03 Al 2 CHHI 450 630 A 180
O orsg? 28217 &1
50,000,000& * 0.90/100 450
C=HAUWXN S 2 70,392 48,392 22,000
101 1Al 2,892 2,892 0
04 JI2ZtHZ22HEE = 2,892 2,892 0
O U=sdHAdUdsS2 tHa #aae a2y
60,250% * 498 « 128 2,892
201 LEt2E | 67,500 45,500 22,000
01 AFR2teltl 5,500 5,500 0
O =&l 5,500
- MBS (SH S, LM S)
125,000 » 123 1,500
- USHAUNSE 2A2E(ZE ,24AS)
250,000 » 12& 3,000
- 338 M) =& 83,300& » 123 1,000
02 832gHl 62,000 40,000 22,000
O 2223 % HMA 59,000
— AUHNEZE HUFB(HIAME)
2,000,000& = 12 2,000
— AUANSIUFZ(YEAME)
1,500,000& * 23| 3,000
- GEHdUdNS2 dIIes
3,500,000 ~ 12& 42,000
- UGEHAdUNSZ o3
200,000 * 123 2,400
— dJ|etd BE ==& 800,000& » 12& 9,600
O A& &HI R X 3,000
— OSHAUNSE NERIEx (sl
HIE =) 3,000,000& * 14l 3,000
=UMSHH 2 300,499 278,142 22,357
HsSHdEH Ald2el 300,499 278,142 22,357
101 1Al 12,559 33,242 A 20,683
04 JIZtHZ22 s+ 12,559 33,242 N 20,683
O &U+ga ) aze o8
66,800% * 8% » 8 = 23 8,551




SN AREAYE
Hu: ATXMNQY BAS
el ROIKSHE 2 CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O =0 d=dE 02 2ize o2y
66,8003 * 5H » 123 4,008
201 L2l 275,150 232,050 43,100
01 At 22l 9,250 8,950 300
O get==&H| 8,500
— U SE(SHS LEM S)
150,000 * 123 1,800
— 2OE B ARE(EE,2AS)
375,000& = 123 4,500
- S Y E2F U L 42F 2y
100,000& * 122 1,200
- 338 MHJl =& 83,300& » 12& 1,000
O o = dl 750
— A== 250,000& = 3% 750
02 8323l 265,900 223,100 42,800
O 2323 % HMA 227,400
— AYOINMEE MUHA(HIAY)
2,000,000& = 13l 2,000
— AUNESHUFA(HIAY)
1,500,000 * 23| 3,000
— 28 & 2ES ot 2el aldl
500,000& = 13l 500
— dIIetH B2 800,000& * 12& 9,600
— HEYH(SIEHIZ) 8H >+2(HHAE)
200,000 = 12& 2,400
~ 2HMe3 Y 2Ewas:
1,000,000& * 14 1,000
— JIEt HA3U3(BEx+HE S)
1,000,000& * 12l 1,000
— H=sdH #IJIL3 12,000,000& = 12& 144,000
— HMs4dH dot=ERs
4,000,000& = 12& 48,000
— EIMERES 750,000 * 23| 1,500
— HESAZUANE IS (Z4, 572
g) 550,000& = 12& 6,600
— 8Ex=E2F HlIes 200,000& = 12& 2,400
— QIZIAIAHOIER HIRSB
50,000& = 12& 600
— EAFE ZGANE HIIRS
400,000& = 12& 4,800
O ¢ = dl 3,000
- =8 224 S% 7503 = 4,000 3,000
O AM&EHIs Xl 35,500
~ IUMSHE BAF 287 24
2,000,000& = 14l 2,000




2N A=A
M AXIMA EHH3F
Sel: ROHSHE 2 (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— MIIEHI(HEHEZ MIIALE) wH
4,000,000& = 14 4,000
— JIHY =2 ud % FH
100,000 * 80m 8,000
— JIHA =28Z Wi 3,500,000& * 2CH 7,000
— =& JIAHA ANE RANE=H
5,000,000 = 14l 5,000
— SIOIEEHOILHH &#ADFR E(585/1
500H) 2,000,000& * 14 2,000
— 24 M2 1,500,000& * 1CH 1,500
— AUMSR ANE RIE 28
2,000,000& = 14 2,000
— HUMSE2 & =T 2SANE R 2
] 4,000,000& = 14 4,000
206 M= Hl 12,790 12,850 260
01 =8l 12,790 12,850 260
O 3% gaasH 2L 6,000 * 540kg 3,240
O =g F&H 74 5,000 = 3502 & 1,750
O =3 3+2 ZH 72 400,000& 128 4,800
O =ZZ e MM 2& 30,0008 * 60kg 1,800
O 493 +3 UE2 M A% 2
10,000& * 12004 1,200
HE2LAIH (AL LA 52,920 54,280 A 1,360
Jl2dul (AL = AN ) 52,920 54,280 A 1,360
Jl2dyl (AEXZ = AN CH) 40,160 54,280 A 14,120
201 L2l 36,720 42,640 A5,920
01 At 22l 36,720 42,640 A5,920
O el 7,800
— RN2E SUAL 7,800,000& 7,800
O 2d+¢ 28,920
— Zg2sd 2.=3d| 28,920
2 A 60,000& = 1€ = 117 7,020
= Z 60,0003 = 1 = 365¢ 21,900
203 &S =&l 3,440 2,540 900
02 33 H 2= 440 440 0
O Hol2g . Msds s HIAINEE
40,0004 * 11 440
04 FNSELRZ=LH 3,000 2,100 900
O BAN2IELRFAH (B2 11g) 3,000
— 15¢1 Olat 250,000& = 123 3,000
2zl (Msedg) 7,280 0 7,280
201 2et24d] 3,500 0 3,500
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